350 Chapter 5 - Planar Rigid Body Kinetics

Example 5.C.9 /hMQ/ W

Given: A rod of mass m and length L is pinned to a block of mass M. The block can slide on a
frictionless horizontal surface. The rod is released from rest when 6 = 30°.

Find: Determine:

(a) The angular velocity of the rod when 6 = 90°; and
(b) The velocity of the block when 6 = 90°.

Consider using both the work-energy and linear impulse-momentum equations in your solution.
Use the following parameters in your analysis: m = 10 kg, M = 30 kg and L = 2 m.
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